4.4.1 ZEAMRSHRBNETI=



. E ~
=2 1T

[
. FFE
FEx? +2x—3
= ORYIRE
2207

ﬁ
| I
x
1.




Bl: 757Ex® + 2x — 3 = ORIRSERES (x) = x° + 2x — 3HIEIRBHAREVE?

B RES () = 2* + 2x — SNERMEFTR: i
IREESR, TURIRRSHAIERSBIA(-3,05(1,0). \ - / .
XA RRRLITHEREFEA RN, BERZH R ;/
Hf(x) = x* + 2x — 39T = )




EE: FERAPRA!



[B&R2: [EE—JT RGEAIR SN XRREERARR, AJLUSHGTES (x) = 089
REREY = f()ERZEINRRS?



[&82: ZEE—T R GIERRS XM IRREERIIXRER, AILISHAEES (x) = 0RIR
SRy = f(OBERZIERIRRED?

tEf(x) = 0BSLEUR 'f@%@ﬁ
— By = f()BER iﬁﬁ

= Ry = FONBESSanERE  ERFIE



=]

Bl1: WS N AIRR R, T RE AR A2

4y 33’

, .
2
1

X, X,

X, - .
2 1 0 i 2 3 2 1 0 1 2 -2 ,f—1 0 1 2
-2
_2-

B&: ATHIAEES (x) = 059 (x) = 03IF—SLEUR, HiEh(x) = 0B =MSEEUR.



Tl: MEEEHY = h(HESR, FEFRAANREESTARTER?

33/
B MEESTUET, Ry = h(x)SdE=1s. /\
SBRA B CZR, WEHAZASH, BRAER=ASA U\B | é
EAENEESE AN —, (BETUAMAEMEERER. 4\L/



. FTEIR T

[ARE3: XITFEREY = f(x), WREXE[a, b] EFHES(a)-f(b) <0, BPARY = f()TE

EVZY=1 VR Y o o N by — = S =, | B
4y 3 Y
2
| T
b X, |

a A
=2 _110/31 2 3 2 4 o 1 2’
1

| -
2

-3 -2

-4

vy — Pv 1 £ —

- N W




W84 REN—NFHE, EF "WTFREy =fx), WRERXE[qab] EiHE

£\ £ - N AR/r wn¥b.. _ cr. A \ANTTRRISI . LN B 23S AMEIACESN0D

- M 7% I - 9
?(
o
- (X
O
P

a

-2 -1 Eﬂ/c1 2 3 -2 -1 0 1 2
1 ;
i -1
/
. -2
-4

BREY = f(x)EXI[E)[a, b] EREISEEEAERRY.




. MR m—

T RFEEE
SNEREREy = f(0)EXIE[a, b] LRIERE—FIELEAMIIHZ, BEf(0)-f(b) <
0, ABAREY = f()EXE (e, DAZELPE—1TETR, BIFEERx € (ab), E15

f(xo) = 0.



. Mna—

R F R
ARy = f(x)EX[E][q, b] LREIRE—FELEARTRIHZ, BBEf(a) f(b) <
0, BBAREY = f)EXE(a, hHRELB—1FR, BIFEERx € (ab), E15
f(x0) = 0.
ERTIBL BRBREN, & SESEN R A B RESE.




725 : REFLRFEEEFHNSICALERFMAE? BBy = f()EXIE|q b] £
2z, HEX[E(a, h)RFEZTR, LML (a)-f(b) < 0157

5
4
k
| :
i ]
1 :
a b X,
-2 -1 0 1 2 3 4
1
2

T RFEEEAGELA!




=]

F2: BEf(x) = 223 — 57EXE(1,2) RIFEZEANE?

fR: BRES(x) = 2x3 - SHIESEXE[1,2] B&EEE, Bf(1) =—3<0,f(2) =11 >
0, IRIERHAEFELFEEETR, REf (x) = 2x° — 5EXE(1L,2) IFES =




T3l: BRES(x) = 2¢° — 5EXIE(1,2) RFEE/ LN ERIE?

B HRERENERAIA, BRES(x) = 20° — STEEMIEARBEIEEIE, XHFI2EIREN

f(x) = 2x° = 5SEXBE(1,2) REFEES = NERESf(x) = 2x° - 5EZXE (1,2 REFE—1S
=]

AL




P ERFCCAASOE R TS, AW RRREN —LAE. METHRIAREL, H:
https://d.book118.com/178045054033007006



https://d.book118.com/178045054033007006

